F2IEEEVAI—X[ELHEREFIERE 3

(201848 A5H &k LFREIER)

5 # 952 E® | B BBES | K & | & | W %  BR | ABSRN | 0BAR-

MGER MR /| 2E/ ) XH ) 2H £ s ER | ux L2
(M-W) | (NgR2#T) | (++-) (6HT) (AN-2 2 £) d 48 | FEIE- SERBE | ENE- SERBE

000001 BA KB | ,,| K&H [075kg| 1500 (+:2) -1.0

E:l 60m M25 735 | +06 | 070676 |[EFf XK 27 | B-K&H

] 60m M30 740 | +0.6 | 070617 |MiTE &— 31 | B-REH

2 60m M30 767 | +06 | 070702 |FHHE FH{ZHhH 31

2] 60m M35 760 | +0.6 | 160617 /R ZHHA 36

2] 60m M35 7.78 | +0.6 | 070663 |£7F% Hith 37

8 60m M35 925 | +0.6 | 070643 |#iK FE=Z 37

2] 60m M40 767 | +0.6 | 070584 |{Rik M5B 40

<] 60m M40 794 | +06 | 070604 ([P Zik 41

2] 60m M40 7.97 | +0.6 | 070708 |7&ikE XKi# 41

2] 60m M40 823 | +0.6 | 070607 |& & 43

2] 60m M40 8.23 | +0.6 | 070699 |‘BHE {Hif 40

5 60m M45 7.90 | +1.2 | 070561 |{k£#E EA 47

-] 60m M45 797 | +12 | 160777 |E#E ¥t 46

2] 60m M45 807 | +1.2 | 070585 |EEik AXidif 49

] 60m M45 8.63 | +1.2 | 070673 |FEFT #H— 46

2] 60m M45 868 | +1.2 | 141397 |+H —1f 47

-] 60m M45 918 | +1.2 | 070627 |luFE & 46

2] 60m M45 937 | +1.2 | 070693 |{E@k —1if 49

8 60m M45 946 | +1.2 | 070711 |pKE Hth 47

2] 60m M50 744 | +15 | 141177 |BX HEA 50 | K&

2] 60m M50 820 | +15 | 133774 |iHK {E% 52

] 60m M50 822 | +1.5 | 070554 |3t Fo4dt 50

2] 60m M55 8.15 | +1.2 | 090226 [/NME Rt 59

] 60m M55 831 | +1.2 | 133112 |IUT #EF 57

] 60m M55 859 | +1.2 | 060304 |EH =Hif 58

2] 60m M55 867 | +1.2 | 070478 |WIE %= 58

2] 60m M55 944 | +1.2 | 060380 H’ERF 1 57

2] 60m M55 9.67 | +1.2 | 070382 |#iK =EF0 58

] 60m M60 880 | +2.0 | 131264 |JIlZ BE— 61

2] 60m M60 9.03 | +2.0 | 070594 &H = 61

5 60m M60 9.08 | +2.0 | 070638 |ET 38A 63

2015F4 FeET () BARTRA2—X NM-001




>:] 60m M60 935 | +2.0 | 070684 =& =EhA 63
E:l 60m M60 948 | +20 | 070360 |{ER/K %= 64
2] 60m M60 9.49 | +20 | 070637 |E 3| 62
] 60m M65 974 | +2.7 | 070578 |/hNL & 67
5 60m M65 11.80 | +2.7 | 070622 X # 67
2] 60m M70 884 | +2.7 | 101010 |{REk #Ek 71
2] 60m M70 9.24 | +2.7 | 070093 |FH %I 70
2] 60m M70 943 | +2.7 | 070401 |i&H B—ER 74
2] 60m M70 10.85 | +2.7 | 070678 |jnjgkE — 5 70
2] 100m M30 1149 | +25 | 070617 |MfE &— 31
2] 100m M35 12.13 | +25 | 160617 |$#&[7 Z=BA 36
2] 100m M35 1215 | +25 | 070706 |HhA ¥ 36
::] 100m M35 1219 | +25 | 070657 —/# Rf& 35
5 100m M35 1221 | +25 | 070663 &7 "t 37
::] 100m M40 1212 | +2.2 | 070584 |{Fik R#E 40
] 100m M40 1233 | +22 | 070695 BF KR 41
::] 100m M40 12.64 | +2.2 | 070604 |PfA&R ;Fdk 41
=] 100m M40 1290 | +2.2 | 070708 |7SiE K@ 41
5 100m M40 13.13 | +2.2 | 070699 |EFE {HIR 40
B 100m M40 1377 | +22 | 070626 &B [EE 43
E:l 100m M45 1241 | +30 | 070561 |{kfE FBA 47
] 100m M45 1259 | +3.0 | 160777 |EiE ¥£3% 46
E:l 100m M45 13.12 | +3.0 | 070585 |E&@E Nicif 49
] 100m M45 13.37 | +3.0 | 070701 | L5 #REA 45
<] 100m M45 1393 | +3.0 | 070673 |FE4f #H— 46
] 100m M45 1489 | +3.0 | 070627 |luEFE HE 46
2] 100m M50 1152 | +21 | 141177 |EXR EA 50
2] 100m M50 1229 | +21 | 140778 |/M#k 4 54
2] 100m M50 12.86 | +2.1 | 133774 |FK {E% 52
] 100m M50 1337 | +2.1 | 160672 |/Ih#k —= 51
5 100m M50 13.76 | +2.1 | 040508 |#BER Eh 51
] 100m M55 13.09 | +1.7 | 090226 |/NE 3Rt 59
] 100m M60 13.96 | +2.2 | 060176 |KA[[R {RE 61
] 100m M60 1453 | +2.1 | 070638 |[E& 3h 63
] 100m M60 1490 | +2.1 | 070684 B =& 63
E:l 100m M60 1495 | +2.1 | 060378 |#&i TARER 62
E:l 100m M60 15.44 | +2.1 | 070360 |{ER”K E= 64
L 100m M60 15.65 | +2.2 | 070637 B =i 62
] 100m M65 18.81 | +3.2 | 070622 A #h 67

2015F4 FeET () BARTRA2—X NM-001



8 100m M70 1421 | +3.2 | 101010 |{FEE A&k 71
E:l 100m M70 1486 | +3.2 | 070401 |j&H B—BR 74
E:] 200m M30 2375 | +4.1 | 070702 |ZH Wi 31
5 200m M30 2381 | +41 | 160737 |XE FHikt 32
E: 200m M35 2464 | +41 | 070706 A FF 36
] 200m M40 2471 | +3.2 | 070584 |{RiE R%%E 40
E:l 200m M40 2597 | +3.2 | 070604 |fAIEp Fik 41
E: 200m M45 2473 | +3.2 | 070561 |{k@E FHHH 47
E:l 200m M45 2557 | +3.2 | 040033 EHR —H3 49
E:] 200m M45 3394 | +32 | 070693 |{kfE —i# 49
E:l 200m M50 2359 | +3.1 | 141177 |'BXK HFA 50
E:l 200m M50 2529 | +3.1 | 140778 |/N#k #4 54
E:] 200m M50 2698 | +3.1 | 133774 |FK {E= 52
L 200m M50 2745 | +3.1 | 160672 |/ Mk —% 51
8 200m M50 2850 | +3.1 | 040508 |#FER ZEth 51
8 200m M55 2654 | +25 | 070398 |{k@k IEk 55
2 200m M60 3129 | +25 | 070638 |FE& B8A 63
8 200m M70 2994 | +25 | 101010 |{Fik Lk 71
8 200m M70 31.24 | +25 | 070401 |i&H B—ER 74
E:l 200m M85 5445 | +25 | 070358 |{EEkE i 88
8 400m M30 53.95 070702 |ZH #H{ZH 31 | &-
] 400m M35 54.67 070657 |—/# Rf{& 35
E:l 400m M35 59.77 070706 AR ¥ 36
E:l 400m M45 1.00.24 090658 |7k B= 45
E: 400m M45 1.17.41 070693 |k —if 49
E:] 400m M50 59.64 132065 |4 B2 53
E:] 400m M50 1.00.08 141487 |FHFL B— 54
£ 400m M50 1.00.62 070646 =+ 51
E:l 400m M50 1.02.70 160672 |/ME —F 51
8 400m M55 1.00.17 070398 |tk 1EX 55
(] 400m M55 1.12.77 160775 |#)Il FIJBR 59
E:l 400m M60 1.05.56 070545 |[ILA #7&E 60
8 400m M60 1.11.87 060378 |#&ik EAER 62
] 400m M60 1.12.96 070393 |¥&1EZ BEfT 62
E:l 400m M60 1.18.74 070556 Bk 1= 63
8 400m M65 1.20.49 070444 |{&JIl #% 68
E: 400m M65 1.23.45 070578 /ML & 67
E:l 400m M80 1.53.22 070023 |HIF %¥— 80
] 400m M85 2.02.77 070358 |{kEik HEi 88
] 400m M85 2.14.75 070014 FAH B*x 87
8 800m M30 2.08.35 070657 |—/# Ri& 35
5B 800m M40 2.13.96 070660 |=HH & 42 is

N
—
il

LAfl)

BAYRXA2—X NM-001



] 800m M45 2.35.54 070613 |#&[ IE# 47
5 800m M45 2.39.17 070581 |Zih FH= 49
8 800m M50 2.26.97 132065 |4 82 53
E:l 800m M50 2.28.13 070721 |hnfgk #ER 50
E:] 800m M50 2.36.64 070722 HE B—H 54
8 800m M55 2.36.23 133188 &1L E#t 56
] 800m M55 3.06.66 040553 |#5iK & 58
5 800m M55 3.18.61 070155 ;Eid & 56
8 800m M65 2.44 52 070442 =i X 66
E:] 800m M65 3.06.39 070444 [{EJIl 8 68
E:l 800m M70 3.07.87 070015 |E#& W 73
E:l 800m M75 3.12.28 070255 | RJIl iz 78
] 800m M75 3.45.46 070454 |#H% =25 78
(] 1500m M24- 4.17.96 070705 |/Ng E 20
] 1500m M35 4.49.04 040588 | RJIl BA 35
] 1500m M40 4.45.94 070698 |ILA B2 42
(] 1500m M40 5.34.03 070632 |FEE E 41
E:l 1500m M45 5.07.97 111117 Bl EX 48
8 1500m M45 5.11.61 070613 |4k IEE 47
E:l 1500m M45 5.16.28 070581 |Zih FH= 49
E:l 1500m M45 5.17.88 070712 |Fg ® 5 49
8 1500m M45 5.22.64 070701 | E%¥F #FEA 45
E:l 1500m M50 4.52.36 070646 =48 51
] 1500m M50 5.14.41 070633 |%f8 Euig 52
E:l 1500m M50 5.17.41 070721 |hnfE HEA 50
E:l 1500m M50 5.27.80 070630 &3 Bz 54
E:] 1500m M55 5.26.39 133188 | &1L E# 56
E: 1500m M55 5.44.96 160775 |hJI| FI|BH 59
E:l 1500m M55 6.49.15 040553 |#5K 58
8 1500m M65 5.24.17 070442 =i X 66
] 1500m M70 6.33.75 070015 |E#& W 73
E:l 1500m M75 6.49.71 070255 | RJIl =z 78
] 1500m M75 7.14.86 070266 |f&iB BX 75
] 1500m M75 7.59.42 070454 |#% =3B 78
8 3000m M55 12.35.35 160775 |#1)I FIJBR 59 RKEH
5 3000m M60 11.34.48 070545 |ILA =& 60
8 3000m M60 17.06.15 070393 JEE 1T 62
8 3000m M65 11.22.94 070442 =i X 66
£ 3000m M65 13.51.53 070444 [{EJIl 8 68
E:l 3000m M65 15.57.70 070160 |Bik HZHE 68
8 3000m M70 14.08.29 070015 |iE#& 73
(] 3000m M75 13.59.83 070255 | RJIl =z 78 | .

Tt BAYAS2—X NM-001

N
(@]
—



] 3000m M75 15.30.05 070266 |#&B BX 75

E:] 3000m M75 17.00.10 070454 |#% =58 78

E:] 5000m M24- 15.44.70 070705 |/Ng E 20 | B-KE£H
E:l 5000m M35 21.52.50 040588 |RJII BA 35

g2 5000m M45 18.44.66 070613 |#kff] IE{& 47

E:l 5000m M45 19.13.70 070712 |Fga B 49

] 5000m M45 19.43.92 070581 |Fith =H=E 49

E: 5000m M45 20.26.76 111117 |EIl EX 48

E:l 5000m M50 18.15.48 070646 =48 51

] 5000m M50 17.35.71 070633 |%f8 Eig 52

) 5000m M50 21.35.26 070630 &3 Bz 54

] 80mH M75 2001 | +1.7 | 110120 |{kp@E #FE% 79 | KsH
8 100mH M50 1494 | +1.2 | 140778 /MK A 54

(] 100mH M55 1562 | +1.2 | 070398 |{E#k IEX 55 | B-K&H
E:l 100mH M55 16.81 | +1.2 | 133112 |[[UF # 7 57

8 100mH M60 20.03 | +2.1 | 070556 |E5@k = 63

;) 100mH M65 2586 | +2.1 | 070052 ‘& & 66

E:l 110mH M30 1498 | +1.3 | 160737 |KFF FH#t 32 RLH
8 110mH M30 1592 | +1.3 | 080702 |LU#t B 33 KEH
E:l 2000mSC | M60 7.40.89 080313 |4 #iR T 60 | K&
E:l 3000mSC | M35 10.54.38 070601 |Fp#t FEAA 36

g2 3000mSC | M45 12.36.38 070711 |RkH #ith 47

E:] 3000mSC | M50 12.41.82 141487 |&FIL B— 54

] 3000mSC | M50 13.22.81 133713 |—/# 18X 52

E:l 3000mSC | M50 13.57.56 070722 BE B—H 54

E:l 3000mSC | M55 13.47.29 133188 | &1L E#t 56 XEH
E:] 3000mW M50 20.17.35 070665 |{ERK 5 51

] 3000mW | M50 20.17.66 101013 |IF#k Hth 51

5 =Bk M25 1.30 070714 | K%t =+ 25 | B-K&H
5 E = Bk M30 1.45 070720 |fnfE ¥L&E 33 | B-X&£H
5 E =Bk M40 1.60 160725 )1l %A 43

5 L= Bk M50 1.74 040406 |EIR =¥ 50 | K£%H
5 E = Bk M50 1.50 133396 | KR EXx 50

5 E = Bk M60 1.05 070524 |#%t B— 63

5 Em Bk M65 1.25 070094 |/NE X B 68

5 Em Bk M70 1.20 070502 ;A =if 72

5 =Bk M70 1.05 070093 |FH i 70

] ANk M25 6.44 | +1.3 | 070676 |+t fEX 27 | B-REH
5 Tz Bk M35 546 | -0.2 | 070717 | K& &5h 35

5 Tz Bk M45 463 | +09 | 070701 | %5 #RER 45

] AR Bk M45 397 | +0.1 | 070711 |EkHA &t 47

5 ENE Bk M45 3.91 | +0.8 | 141397 +H —if 47 i .

Tt BAYAS2—X NM-001

N
(@]
—



] ANk M50 495 | -04 | 133396 | K Rk 50

5 TE 2 Bk M55 498 | +1.4 | 070478 |BIE %= 58

5 E = Bk M55 429 | +1.0 | 070382 |#3K =F0 58

] ANk M60 350 | +0.7 | 070360 |{EAAK mH=*E 64

] EnE Bk M65 283 | +0.3 | 070622 48K 67

5 TE Nz Bk M75 314 | -20 | 110120 |{kfE %k 79

5 =Bk M35 12.03 | +2.1 | 160737 |XKFf FH#t 32 11.89 +0.4
] =&k M50 11.44 | +0.2 | 040406 |EifR =% 50 | XK&%H

8 =Bk M55 726 | +29 | 070155 ;& IEH 56 6.97 +1.3
5 =k M60 983 | +05 | 131264 |JI|iF BE— 61

E: =Bk M60 921 | -0.2 | 160206 \KAR EAE 60

5 =Rk M65 859 | +0.1 | 070052 ‘& [& 66

5 ST R R Bk M25 14.29 070676 |+ #EX 27 | B-X&%H

5 ST R ER Bk M30 14.73 070720 |f0fE L4 33 | B-XEH

5 SRR B M35 12.85 070717 |K# &sh 35 | B-XK&H

5 37 FER Bk M40 13.19 070695 BFR MR 41 | B-KE&H

E: 31 F BBk M40 12.48 070626 |&B E* 43 | B- K&

5 SRR B M45 12.70 070585 |EEiE XiCHE 49 KEH

E: 31 F BBk M45 9.38 141397 |+H —If 47

5 SR ER B M50 13.40 040406 EIR = 50 | XK&%H

5 SRRk M50 12.03 070554 3% #e4E 50 B

5 ST R ER Bk M50 11.87 132065 |FEE #2 53

5 SRR B M55 13.22 133112 |IUF #H 57 XEH

5 SLH BBk M55 11.25 070478 |BIB %= 58 ¥

E: 31 F BBk M60 11.76 160206 | KAR E4XE 60 XEH

5 SRR B M60 11.75 090154 &R —% 63 XEH

2 SR BBk M65 11.33 070094 |/NE X B 68 | B-X&%

8 S H Rk M65 10.63 070052 ‘& & 66

5 SRR B M75 9.23 110120 ({E@k EX 79 XEH

5 faf i M24- 462 070705 |/hNg ZE 20 XEH 7.26
5 fafi% M25 8.86 070714 | K%t = 25 | B-K£H | 7.26
5 fafix M25 8.48 070713 | K#t #& 27 | B-KE£%H | 7.26
5 faf i M30 8.76 070608 |k F— 34 7.26
5 LBk M40 9.39 101014 [/ 82 40 7.26
5 fahi& M40 6.93 070586 |fnfE A 44 7.26
5 faih M45 9.06 070628 %8B BE 48 7.26
5 LBk M45 7.46 070506 |K# B2 49 7.26
5 i M45 6.85 070627 |LLE = 46 7.26
5 fah M50 8.83 070321 |M0% %= 53 6.00
5 LBk M55 9.05 070382 |#5K ZE#0 58 6.00
5 i M55 6.15 070155 |0 IEFE 56 6.00
5 fatiz M60 10.41 280179 |fa5] FRIE 60 500 |, __

Tt BAYAS2—X NM-001



5 i M60 10.17 070652 | K# EIE’E 61 5.00
5 fat % M60 10.08 070719 {gQ F* 60 5.00
5 LBk M60 9.93 040523 |/MNEF %’rﬁ; 60 5.00
5 i M60 8.32 070103 |&=H # 64 5.00
5 At M60 7.66 100436 |/Mk F& 60 5.00
5 IREIR S M65 7.79 070038 |E# BIA 69 5.00
5 i M65 7.69 110397 |f8H =& 66 5.00
E: IREIR M70 8.26 080346 |HI FX 70 4.00
5 IREIR M75 7.58 040320 |hiE B 77 4.00
5 faf i M75 7.01 080637 |{kf%k =& 77 4.00
5 A% M80 7.84 070697 HE E— 81 3.00
5 IREIR M80 6.17 070023 |HIEF %#¥— 80 3.00
5 M M25 28.31 070714 | K%t % 25 | B-K£H | 2.00
5 A2 M25 24.20 070713 | KR#t #% 27 2.00
5 A% M30 31.04 070608 ki F— 34 | B-KE£H | 2.00
5 M M35 19.29 070643 |$5K EZ 37 2.00
E: b M40 25.50 070626 |&E RE*E 43 2.00
5 R M40 2352 101014 /NIl B2z 40 2.00
5 A M40 17.08 070586 |fOfE A 44 2.00
5 A% M45 25.97 070628 |&£B BE 48 2.00
5 M A% M45 22.74 070506 | K#t EHz 49 2.00
5 R M50 22.67 070321 |M0% %= 53 1.50
5 A% M60 35.52 070652 | K#i B 61 1.00
] Mm% M60 29.41 040523 |/MNEF 18 60 1.00
] M85 M60 27.31 070103 |&H # 64 1.00
5 A% M60 27.25 280179 |fih5| #RIE 60 1.00
5 M A% M60 2413 100436 /MR F& 60 1.00
5 A M60 18.98 070524 |#x%t B— 63 1.00
5 A% M65 2407 070038 |E# BIA 69 1.00
5 M A% M65 22.99 110397 |f8H =& 66 1.00
5 A2 M70 19.05 080346 |HlL X 70 1.00
5 A% M75 26.24 070003 |hnf&E #hHE 79 1.00
5 M M75 24.75 100134 |Z5ik Ih 76 1.00
5 Mg M75 18.89 040320 |hif B 77 1.00
5 M A% M75 1412 080637 |k =#E 77 1.00
5 AR M80 11.71 070697 8 E— 81 1.00
El N | M30 30.63 070608 {Eﬁ% F— 34 | K& 7.26
B NoT—8% M55 3456 070570 |5F5H B 56 B 6.00
[l NT— M60 32.20 280179 ﬁ’nél FRIE 60 5.00
El NoT—H | M60 16.99 070524 |#x% B— 63 5.00
El NoT— | M65 18.02 110397 |f8H =& 66 5.00
3] NoR—% | M70 25.31 080346 |FIL %X 70 400 i -

AYZXA—ZX NM-001



] NoIT—8% M75 23.37 100134 |E5ik IO 76 400

El NOT—% M75 22.16 070436 |$6K —=H 78 4.00

] NoI—% | M75 15.16 080637 |{kik =i% 77 4.00

5 Py M25 50.87 070713 | K¥t #& 27 | B-KE£% | 080

8 PYHE M40 27.52 070586 |fOfE A 44 0.80

5 PYE M45 35.25 111117 Bl EX 48 0.80

E: Py M45 24 41 070506 |K#t EHz 49 0.80

E: Py M50 29.04 070321 |pN% %= 53 0.70

5 PYE M50 26.35 070621 |X¥ &Eth 53 0.70

£ Py M55 41.38 060264 | IE{%& 55 0.70

E: Py M60 4184 070652 | K# B 61 0.60

5 PYE M60 32.34 100436 |/ME FR 60 0.60

5 Py M60 24.09 070103 |&H # 64 0.60

E: Py M65 29.33 070038 |HE#I BIA 9 0.60

5 PYE M65 17.97 070055 |{kiE i 67 0.60

] HUE M75 18.06 040320 |hiE BE 77 0.50

5 Py M80 11.32 070697 HE E— 81 0.40

=S 60m W60 1027 | +1.6 | 070555 & BF 62

= 60m W60 10.85 | +1.6 | 070346 A= FE&EF 60

£ 60m W70 10.85 | +1.6 | 070445 |#k #BF 73

£ 60m W70 1141 | +1.6 | 070649 HIH EKF 70

£ 100m W30 1407 | +25 | 070715 |[#L AKX 31

£ 100m W40 16.36 | +2.5 | 160797 |{FiE At 43

£ 100m W60 16.76 | +25 | 070555 & BF 62

=S 100m W70 18.07 | +25 | 070445 |# #EF 73

£ 100m W70 18.70 | +25 | 070649 #HIE EKRF 70

£ 200m W40 3473 | +2.4 | 160797 |{BFEE A 43

£°8 200m W45 3591 | +24 | 160720 |E)Il K& 48

£ 200m W60 3757 | +2.4 | 070555 |EHE BF 62

8 200m W70 4028 | +2.4 | 070445 |# #BF 73

£ 200m W70 4119 | +24 | 070649 HIH E{F 70

£ 400m W45 1.20.70 160720 |E)Il K# 48

£ 400m W60 1.21.09 111013 |SHIEH E®EF | 60 KEH

£ 800m W55 3.02.24 133327 B4 HE 55 KEH

=S 800m W60 2.50.42 111013 |SHIEH E®EF | 60 KEH

X 800m W65 3.12.76 070059 |{E<K HEEF | 67

T 1500m W55 6.31.98 133327 &1 HE 55 RKEH

=S 1500m W60 5.48.20 111013 |SHIE E®BEF | 60 XEH

£ 1500m W65 6.21.88 070059 |fE<K HEEF | 67

£ 3000m W60 15.05.31 070346 |&EFE EHEF 60

£ 3000m W65 13.15.11 070059 &R K HEEF | 67

& | 2000mSC | W55 9.37.75 133327 |81 HE 55 | K& N A T
ZUTOTF4 H al (1L)

BAYRXA2—X NM-001



£ L= Bk W45 1.35 090493 |Hh#t FiT 46
£ Tz Bk W40 347 | +0.1 | 160797 |{REE AfL 43
£ E = Bk W45 479 | -0.2 | 090493 |&# FiT 46 KEH
£ iz Bk W60 334 | -1.1 | 160362 | HOF 63 AL
X = EXBk W45 953 | +1.3 | 090493 ®# FiI 46 KEH
£ =Bk W60 752 | +0.2 | 160362 |Fi HOF 63 KEH
£ SLF BBk W45 11.28 070482 | BH 42 | B-K&H
£ 31 FER Bk W60 9.02 160362 HE HPF 63 | A%
£ fafi% W40 7.64 070482 |2 BH 42 4.00
£ fa A% W50 6.33 070709 | X# HHd 50 3.00
£ fafi% W75 9.32 070333 | mRL 1EF 77 2.00
£ R W75 21.78 070333 |ERL EF 77 0.75
£ NI, | W75 24.64 070333 |Z=RL 1EF 77 2.00
£°8 HUE W40 31.24 070482 £ B&E 42 | B-K£%H | 060
=S Py W75 10.07 070045 | SU DY-F 76 0.40
E:l 4x 100mR | M30 4832 | $8E | 070584 |{REE MsiE 40 | B-KEH
(24k)| 070561 |{Eik FHH 47
070673 |Faft #h— 46
070702 FH WA 31
E:] 4x 100mR | M30 4893 | 28 | 070626 &B E=E 43
(LvhH=E) 070617 |MTE &5— 31
070585 ZE@k Aichf 49
070554 |5%Y] o4 50
E:l 4x 100mR | M25 5211 | {88 | 070604 |[AEp Fk 41
(£:#£)| 070712 |Fg BHHE 49
070711 |RkH #ith 47
070676 |FE+ fEX 27

2015F4 FeET () BARTRA2—X NM-001



